MARKING SCHEME

ECONOMICS (576)

Class 12th SAMPLE PAPER SET: C M.M:80

Q.NO. EXPECTED ANSWER/VALUE POINTS MARKS

1 d) TS 3R SRISRTR] &1 JHRT (d) Problem of poverty and unemployment 1

2 ¢) diHd H uldad & foqr 7T # uRdaq (c) change in demand without change in price 1

3 b) AR U gl 8 (b)when AR decreasing 1

4 a)gd (a)zero 1

5 (b) gUfaFﬁ?ﬁ{Rtﬂ%f (b)perfectly Inelastic supply 1

6 BEIfQ SRR Micro Economics 1

7 (-) P/Q x AQ/AP (-) P/Q x AQ/AP 1

8 db-ilip Technical 1

9 a) MHBYF(A) 3R HRUT (R) S ol § 3R a) Both Assertion (A) and Reason (R) are correct 1
PR (R) ATHBYT (A) DI Tl RS 2l and Reason (R) is the correct explanation of Assertion (A)

10 | SM¥BYA(A) et 8 Afp BRI (R) Teld g Assertion (A) is true but Reason (R) is false. 1

11 ' . 15
TAid ARTd AT ST & SRIeR gl a1eq MC=MR 1.5
WNgid AT 96 a3 HT A= S Bredt %| MC curves cuts MR curve from below

3fyar or
gﬁaﬁaﬁa (Es) = P/Q x AQ/PA Elasticity of supply (Es) = P/Q x AQ/PA 3
P=4, P1 =5 PA=5-4=1 P=4,P1=5 PA=54=1
Q=8 0Q:1=10, AQ=10-8=2 Q=8,Q:=10; AQ=10-8=2
Es=4/8 x2/1 = 1 (3PI3) Es = 4/8 x 2/1 = 1 (Unitary)

12 JUHIST Soic A STNU™ IuHTa &1 Fuid sma 4 Consumer budget means the fixed income of the 3
21 o 33 ote War g1 +ff ufkfSa fsar ST&ar | consumer. In which can also be defined by the budget line
%@ﬁﬁﬁ?ﬁ?%ﬁﬁ-ﬁ T BT UHC FRA 8 | which reveal different combinations of sets of two objects
S T I &U:ﬁ_cﬁ_g'é S aYl ?ﬂﬂ\?ﬁﬁ?ﬁ §_5: a consumer who is dependent on his given income and

given amount of goods an buy at price. It is also calle
HIT W T IHdl 5| 34 HIAT @1 4 Hod § i f goods an b ice. It is also called
FNfh g aIJ-x dYT W-y% CIEEILG 3{Urd price line, because this reveals the price ratio between
& Yebe Bl gl commodity x and commodity y.

13 WH@W@WWW&% 3O AT I | The demand for a good when its price increases, other
WWWW@I KiGi| %HUI maﬂnﬁwsﬁ things remaining the same. It decreases and its demand
TR IYD! AT & ST 81 increases when its price decreases.

YT Or

maﬁwrﬁwﬁmaﬁ U PTG | Other things remaining the same, when the price of a
WW@RW%HWWW@W@ aff commodity increases, its supply increases and when the
% g I g price decreases, the supply also decreases.

14 SAXR AT B! YTROM ART DI GHW &TROT § 1 The concept of opportunity cost is the modern concept of | 4
ot T1eM P SrawR AT Gﬁmﬁﬂﬁcﬁg cost. opportunity of any means Cost means its value in the
Ty TamT ﬁm%@%l 3{Aud fdbdt WY Bl | second best alternative use. Therefore The opportunity cost
TR AN I8 AN ¢ DT ST ATeA H1 fod Th | resource is the cost of Being unable to do other alternative
ara‘ﬁWsﬁ%mcrwwmﬁ work as a result of being employed at work Reason has to
5! B UM $ HRUI AN HAT U 5 be sacrificed.

15 gui GiaITaT STeiR 1 8 fRufd & forad fbel ¥7%0 | Perfect competition is a market situation in which there 2%2
g éiagaﬁ e T faohar FagI Q‘Ufmﬁﬂ 1| are many sellers of an identical product.

Y & wH Had IR ST R & 39 IdTe B There are buyers and sellers. In perfect competition the




faopa B Tl & | gol Ul o fRufa o

BH B TS IPHTS $I faHd HIHd IHH Bl g

WWWWWWW
|

firm can only charge the market price. She can sell her
produce only. under perfect competition

The selling price of each unit of the firm is the same. as
a result of Marginal and average revenue are equal.
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P SATG: U 1% GHAT H IATGd DI T3 a3l
TUT TSN BT A BT HA I HET STl B
Hwid Idre: IRATRIA SRS B UH SHIS B
ST 1 3 T B T $A IdTE B ST 3R ATl 7
i IuTe el el 3

STYdT

gfd &1 Fiua ara feht g &t Pima @ g ara
q&a?%wusﬂaﬁqﬁfﬁaﬁaﬁqﬁaﬁqm
e 1o

1) gfd &1 dra > 1: 979 fit axg &t gfd & ufa—ra
mmﬁaﬁmmwamm%

g g2 ¥ gfd &1 A 5T ¥ Sifep gl ]
2) g B A < 1: 99 fh avg o1 uff A ufewra
trﬁa?f:raﬁnaﬁ@ﬁar@ruﬁma R RGN

@ 39 o= A off &1 A 3ors I 1 el B

3) gff wt ar = 1: foeft ore foedt axg ot gfef &
ofeae I 3ruTd H grar § forg srgura &
IYD! H1Id § URGc g § ol 39 ag &I gfef 1
$PIS A Hed o

P P

T
Quantity supplied
@ ® b

Fig.5: Elastic and inelastic supply

Total production: The total number of goods and services
produced in a given period of time.

The total quantity is called total production.

Marginal production: Using more or less of a unit of a
variable factor.

The difference in total product resulting from doing so is
called marginal product.

Or

Price elasticity of supply is the effect of a change in the
price of a good. It is the measure of the change in its
supply.

1) Elasticity of supply > 1: When the percentage change
in the supply of a good depends on the price.

If it is more than the percentage change, then in this case
the elasticity of supply is greater than unit Is more.

2) Elasticity of supply <1 : When the percentage change in
the supply of a good increases in price is less than the
percentage change occurring, then in this case the
elasticity of supply is unit Is less than.

3) Elasticity of supply =1: When the change in supply of a
good occurs in the same proportion as the change in its
price, then the supply of that good increases.

is called unit elasticity.

Lo

Price (T)

ook
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Figg. 5 : Elastic and inolastic supply

2+2
+2
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18 | a) JTUN a) consumption 1
19 | b) 3IATd b) Export 1
20 | b)2 b) 2 1
21 | a) RRFIIA a) Fixed price 1
22 | ) 1935 c)1935 1
23 | Hal & Targ flow of money 1
24 | Tad sye B net indirect tax 1
25 | 8™ income 1
26 | a G{E-W?F[(A) 3R BRI (R) M Tel § 3R a) Both Assertion (A) and Reason (R) are correct 1
PR (R) e yq (A) ol and Reason (R) is the correct explanation of Assertion (A)
el T 5 |
27 | a Giﬁ-ﬁ?ﬁ(A) 3R BRI (R) e gl % 3R a) Both Assertion (A) and Reason (R) are correct 1
DR (R) 3fHYT (A) ol and Reason (R) is the correct explanation of Assertion (A)
e e 7
28 | 3 A Y ITURT I & diq S Y gadT % Iy 99d The balance that remains after deducting consumption from | 3
W?f % JUT o 5999 3R 3 & ~T6Y B Upe HIal | income is called saving. Saving function which reveals the
% I §9d FHTHaT %I relationship between savings and income. Saving depends
I 3 W ﬁ{‘l—f’{ W‘cﬁ % ?Rﬂﬁ? B! % Tﬁef RS9 on income, because when income increases, savings
9 . increase and when it decreases, it decreases. The rate of
% IR W E’Pﬁ RH Ea?ﬁ %l Taq q@ PR growth in savings is generally higher than the rate of
HHTYd: mﬁq@ﬁﬂ%mﬁ%l growth in income.
3{ydr OR
An imbalance is a situation in which the payment of balance
Sm'ﬂ?l:[ I R P! aﬁ?f % ooy H’lﬁ]:[}ﬁ'ls[ aar is either a saving or a deficit is the one. The ways to fix it are
Id 9Tl g1 9IS Tl gidl g1 39 31 1 & U as follows: Discourage imports, Encourage exports,
T USR %:_ Rickal ET‘hT\qT%H S Currency deflation, Depreciation.
fafd & drefed w11 gaT fawmifa sage| 3
29 3T TG fAelt 3T | i ik 39 UPR &:- The three differences between national income and personal | 1 54
3MY: 3T SIS A fobaT SirdT § Safe income are as follows:- 15

St o o ST B0 IR 1S & YITd D M

National Income: Interest is included in it whereas




I 2l ST H I ST YA QM T
iG] ST o & ST AT T BRATeRYT
YT <A i 3 o g1

Personal income includes interest payments on national
debts.

Let's do it. Only income payments are included in national
income. While personal income includes income payments
and transfers. Both payments are included.

30 | oMo 98 fRufa g o uw | srfouarn o q:Uf Excess demand is a situation in which the aggregate demand | 24>
IR & fore Sawas I7d q_j%-fﬁ 3 gt 21 in the economy is more than the aggregate supply required
U ASFTR & SFFU AD>AS for employment.
According to full employment AD>AS
3HYar OR
Budget deficit:- Budget deficit means the situation in which
S9IE UIeT:- §ofe 9re I g 39 fRfa 9 In which the budget expenditure of the government is more th
% RH PR P Solc T, TIHR BT goic Urieqa; § | the budget receipts of the government. Budgetary deficit is a
3ifs soifey R 2 Rorad o) situation in which government expenditure > government
Eﬁ?ﬂ%lﬂ T 'EI'IETa,_s' % receipts et ‘ 2+2
qu_ﬂ; %I It is of three types:-
ae UHR P B &-- 1. Revenue deficit
1. TSI T 2. Fiscal deficit
2. ASTHTHY HreT 3. Primary deficit
3. UTYfiyes Ter
Ways to overcome primary deficit are as follows
UTfHe °1C I QR B & I 59 YR Is :- , _
3. 1. By reducing government expenditure
1 ’ f T B B P 2. By increasing government receipts
2. WHRI I # gfeg Ph
31 | PXWHR gRI Iy =g I USRI} qUT SATehI X | Taxes are legally imposed by the government on farmers and 242
ST AT U 3IqRYh HITdTH g HOd: UHE T producers.
e HI T a—,m oy T %| Imposed is a necessary payment which is mainly direct and
sﬂm‘i m UPR 2-- Classified as indirect taxes.
3 ] &N % e % i Its main features are as follows
1. PP e <§0l Gl 1. Tax is a mandatory payment which has to be paid by the
B TSl §
Sayg | taxpayer.
ZWWWQWWWWW% Of course it has to be done.
F At § fooar S 81 2. Use of tax income by the government for public welfare
30 RBR HRaAl Bl B & 96 J Y& ATH UGH | Is done in the works of.
BT ﬁg STYTE :@3[ aal %| 3. The government provides direct benefits to the taxpayer
in lieu of taxes. Does not give any assurance of doing so.
32 | SO %o 98 SYR § S o & fafa )

TR TR JUHNT B AT Bl Fdlelt g 1 STHT

J 34t fordt srdfogaw # we fAfda ag

T IUHNT W U S a1 I737 o9 9 § il 31U
SHTIRIH A3 Bl Ue TU F TF

P & T A gRT axga3ff aut Jarsdi &

DI WG W T B S arell &1 B A

P IUHNT T BT oIl g

c=f ()

Consumption function is a schedule that shows different
types of income.
Tells the quantity of consumption at levels. consumption
means a certain period of time in an economy

It is the total expenditure on consumption which directly
satisfies one's needs.
goods and services by people to
the amount of money spent on purchasing
is called consumption expenditure.

C=f(Y)




33 | 99T HE F. JHT AT T Ry srdogwyr H mah The overall demand is Rs. Aggregate demand refers to the 3+3
qUT 13 B Y AT A B aﬁ&ﬁ ROIKCIE demand for goods in the economy. ' .
R fpu SN 9T IO 9 5 =Y o 79T ST %| ﬁnd from thedovelgflll demaﬁd for stiir'\;llces. goods and services
TP T qUcH 2 is measured as the overall expenditure.

e ALl Eh?f % It mainly has two components:
1.3 a4 1. Consumption expenditure
2. fax a4 2. Investment expenditure
3{ct: gAY AT = IUHTT g + FHag oug Hence, Aggregate Demand, Consumption Expenditure,
Investment Expenditure
AGGREGRTE DEMAND AD=C+I
N 'oL"
2 : AGGREGRTE DEMAND
g . - ] o
1.[ e
. { :
T g § siftmmg forht ffara v & fodt e
STARIT gRT U Y & 37afd & I T
Sifrm gl T A1l & A e 32 R Overall supply means any |
TI'@T{ Mg T QT@E[ Iare +ft FHEl S %l g IdTeT aggregate produced by the economy over a perl(_)d of one
& T A % I I@ET F RS e B year The monetary value of final goods and services which
» 2 % Also called national income or national product. This
Elgé Nl g. of U S &b ™Y l production is the overall cost of various means of production
3T CRAich o - b TR W TeT Hel ol Labor rent is given in the form of interest and profit.
Based on the knowledge of national income accounting it can
T ¢ & Tru gfef &t yRom 7w gfg @Y Yo d on the knowledge of 1
U %l said here. The assumption of aggregate supply may be the
a9y qﬁ-f =3THIT +939d assumption of price rise.
Is similar to aggregate supply = consumption + savings
3HYar
m RS wd I3 H AT Voluntary unemployment and involuntary unemployment
= - A 3 5 R Voluntary Unemployment Voluntary unemployment refers
. ¥ sfftiora 39 to a situation in which a worker, even when employment is
q % ST U $ifieh ASHTR I ae, W 'l-ﬁ, Ho gi' available, is still employed at the current rate of wages.
B! IIHM R BT B P (oY R 78! 8iell g Is not ready to work.
JalerU & f?]'q, Udh Slde Bl dNR o yaferd daq For example, the prevailing market salary of a doctor
10 B9IR ¥4 Ufowg 8 RIIGH IR BE DA | 10 thousar-ld rupees per month but he does not want to
fere T % = : el | 59 ;/g(t)lrlk oo S_«’ﬂar};- dy f )| t, it will be called
NI 7 S ST A AT | vountary unemployment. This
ERKE & Eﬁﬁ & il Q:Uf Unemployment is not included in the overall estimate. Any
a b e %l There should be full employment despite voluntary 3+3
unemployment in the country.
SRS SRR ST d SRISAIRI T§ SRISIRI BT | Could.
g fRUfA B e ISR & S1a¥R & 34T H SRS
BT uSdl %, ggfug qﬁ@ P! IqHM X W HTH He| Involuntary Unemployment: Involuntary Unemployment:
R aﬁ %I This is a situation of unemployment in which
f 3 q o Due to lack of employment opportunities one has to remain
? > R £ e B i d A unemployed.
off el | Although they are willing to work at the current rate of
wages
Happens.
Involuntary in the overall estimate of unemployment in the
economy
Unemployment would have been included.
34 E[Uf SFTR T4 3 ASHTR ﬂ@ﬂ:{ full employment and underemployment balance 343

Full Employment:- Full employment expresses the situation




Ul JASATR:- GO ISR 39 IR D1 ad Heell §
Forer ey AT, T fcf & SRIeR B SR 3 Wit o
HTH FHRA & TG U HTH B & &GP 8, I
HoIg BT X RGBT U PR A & |

quf IASHTR Fder Uep fRR Tder § Sfgl arkifde
e Hftwan fig W ugd o g1

Ut AR T & 31 Fe BI SHaR H Hid
R # 3G gl 3

3T AR FerT:- 3(eq AR Yo a8 R §
s T AT 9 gfd & RTeR a gt § afda 3 3t
Tt St 1Y B & I T4

S59P § AHT HOIGY! &R IR BT U g1 R UId 8
37ed SR e T FRR Her T8l & SR usi
dRdide Jadie- S=ad fag TR 8! Ugd Urd|

3T AR e F 31 g4 R Hiad wWR F off

i Te1 Bl 3 |

STYdT

o1 &1 gl Top TTab YR 81 59 i i
T GHY foig R & H ATl & U e Gal

AN TPR PG & €d A gl

YR # a1 g & IR Japfeues A g,

@ﬁ M1, M2, M3 3%? Ma

Mi = SIFdT & U190 B! + AT SHG +
feord dF & U 31 S |

Mz = Mi+ STHEH & SId s @l #
SHY|

Mz = M; + STOTRS Sl BI g
qrafy SHTg|

Ms = Ms + STHEM] &I Hd STHY I
(NSS B BISHR ) |

that in which aggregate demand is equal to aggregate suppl
and all those

Able to work and willing to work, present

Get work at wage rate.

Full employment equilibrium is a stable equilibrium where
real Production reaches its maximum point.

Price moving from full employment equilibrium

Level increases.

Underemployment Equilibrium:- Underemployment
Equilibrium is the situation In which aggregate demand is
equal to aggregate supply but they all who are capable of
working and Are interested but are unable to get work at the
current wage rate Underemployment equilibrium is not a
stable equilibrium and here Actual production does not
reach its highest point. As the price level moves beyond
underemployment equilibrium,

There is no growth.

full employment and underemployment balance

Full Employment:- Full employment expresses the situation
that in which aggregate demand is equal to aggregate supply
all those Able to work and willing to work, present

Get work at wage rate.

Full employment equilibrium is a stable equilibrium where
real Production reaches its maximum point.

Price moving from full employment equilibrium

Level increases.

Or

Money supply is a stock assumption. This means someone
The total currency held by people in a country at a point in
time (All types) are from stock.

There are four alternative measures of money

supply in India, such as M1, Mz, and

M3 and M4

M1 = currency with the public + Demand deposit
+ Other deposits with the Reserve Bank of India.

Mz = M1+ Deposit in the savings bank accounts of post
offices.

M3 = M1+ Netfixed deposits of commercial banks.
M4 = M3+ Total deposits of post offices
(Except NSS ).

3+3




